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5. (12%) &A44

Urben intends to sell his customers a special round-trip airline ticket package. He is able to purchase the package from
the airline carrier for $150 each. The round-trip tickets will be sold for $250 each and the airline intends to reimburse
Urben for any unsold ticket packages. Fixed costs include $5,000 in advertising costs.

(1) What is the contribution margin per ticket package?

(2) How many ticket packages will Urben need to sell to break even?

(3) How many ticket packages will Urben need to sell in order to achieve $60,000 of operating income?

6. (12%) &35

MULTIPLE CHOICE. Choose the one alternative that best completes the statement or answers the question.
Answer the following questions using the information below:

Yun Corporation has two departments, Car Rental and Truck Rental. Central costs may be allocated to the two
departments in various ways.

Car Rental Truck Rental
Number of Vehicles in fleet 850 430
Number of employees 120 80
Sales $120,000 $30,000

1) If administrative expense of $62,500 is allocated on the basis of number of employees, the cost per cost driver rate
would be .
A) $312.50 B) $572.50 C)$500.00 D) $833.33

2) If administrative expense of $77,500 is allocated on the basis of number of employees, the amount allocated to the Car
Rental Department would be .
A)$48,437 B)$47,387 C)$49,247 D) $46,500

3) If advertising expense of $125,000 is allocated on the basis of sales, the amount allocated to the Car Rental Department
would be ;
A) $120,000 B)$83,333 C) $86,666 D) $100,000

4) If advertising expense of $112,500 is allocated on the basis of sales, the cost per cost driver rate would be
A)$0.33 B)$0.53 C)$0.75 D)$0.83

7. (16 %) 445
Happy Corporation manufactured 90,000 buckets during February. The variable overhead cost-allocation base is $5.05
per machine-hour. The following variable overhead data pertain to February:

Actual Budgeted
Production 90,000 units 90,000 units
Machine-hours 9,800 hours 9,000 hours
Variable overhead cost per machine-hour $5.00 $4.90

1) What is the actual variable overhead cost?

2) What is the flexible-budget amount?

3) What is the variable overhead spending variance?
4) What is the variable overhead efficiency variance?
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8. (104%) #8245

Choose the one alternative that best completes the statement or answers the question.

1) Which of the following statements best define a product differentiation strategy?

A) It is an organization's ability to offer products or services its customers perceive to be superior and unique
relative to the products or services of its competitors.

B) It describes how an organization can decrease product prices by differentiating its' raw materials from its
competitors.

C) It describes how an organization can increase customer base by differentiating its' product prices from its '
competitors.

D) It is an organization's ability to achieve lower costs relative to competitors through productivity and efficiency

improvements, elimination of waste, and tight cost control.

2) is the fundamental rethinking and redesign of business processes to achieve improvements in critical
measures of performance such as cost, quality, service, speed, and customer satisfaction.

A) Product designing B) Strategy C) Reengineering D) Product differentiation

3) translates an organization's mission and strategy into a comprehensive set of performance measures
that provide the framework for implementing its strategy.

A) product differentiation B) differential report C) balanced scorecard D) performance scoreboard

4) A is a diagram that describes how an organization creates value by connecting strategic
objectives in explicit cause-~and-effect relationships with each other in the balanced scorecard perspectives.

A) strategic scorecard B) balanced scoreboard C) value diagram D) strategy map

5) Which of the following statements best relates to the balanced scorecard's internal business processes
perspective?
A) How do we lower costs?  B) How can we obtain greater profits? C) How do we motivate employees?

D) How processes will increase value to customers?





